Booklet Code AM 2011 D
Time : 3 Hours Murks 160

Instructions :

A1) Esch question carrtes one mack.
[2E (D938 & Sodyy Sedo.

Ay Choose correct answer W the following questions and darken, with HB pencil, the correspomding
digit |, 2, 3 or 4 in the circle pertuining 10 the question number concerned in (he OMR
Answer Sheet, separately supplied 1o you
SME AUNS (28 (P1)% DOFNE Ddrorddeds JEnED @) drded wod
L 23 98 4 Jdr adyd OMR 33rgs S|8swd' (0% Sowclods
soggio DdEE 1B ©)88 Jom ddbddn

BOTANY

I.  Swdy the following hsts ©
& Bod erleoeds sdgahdo Jolod

List-1 List-11
(A} Sex hormone (N Fenilimation in Fuemario
(B) Cell wall breaking eneyme {H) Farmation o zygophores fn Rhizopus
(C) Sugary mucilaginous substance (11 Formution of bude {n Fueis
() Naturally veeurting prowth Taetir {1V Fertlliention ln Plerds
(V) Conjugation in Spirogvra
=Do | arfe
(A} BohE 38" 5 (. RogReard® Sobisno
{B) g s3oriny SISRTAT Sh JeEi (N Eﬁfpt‘.‘ Baoaird Deddh Syommer
S8 dee
(€) 986w do bk Jorg (D $dSouind’ wher I8 deo
(1) Sirs soddgbedse (V) Ba%dt godstino

(V) )t fod® Bodiud o

The correct match 15
28 HATLE fdodly

(Ay (@) (C) (D)
(y (V) an vy (on
2y (V3 vy (g
(3 an vy (o
(G IOV (A1

Rough Work
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2. Which of the following pair is correct ?

i1 Epulopiscium  — Spherical shaped
(2) Aguaspiritlum — Magnetic field
13} Escherichia - Giram positive
(4) Thiomargarita —  Acanthurus

o (fob =8¢' LoTbGa J8 7

th sgdthhahl — Ay o

(2 weygpel — wabdmod Eigo
(3 Gijdhdis — i >2dd

(4) EBrAr3ber — wsofsh

3. Study the following lists with reference to transmission of viral dliseases -

Lisi-1 List-11
(A) Zoospores of fungi (I} Rice lungro
(B) Inscets (I Cherry ring spot
(C) Lomgrdorus (111} Tobacco necrosis
(D) Seceds (1¥) Soil borne virnl discase

(V) Letuce mosaic
Sdne m'gfgﬂnﬂ dgrde ddom & Bod zrlerods wggaido Sabiod

Do | =0e 1
(A) $bog Ao Hgbere (I & evolf
(B) fusmen (S Bef 2y8
(C) wohB'Eh () ek MELT
(D) Sdare (IV) B:388 ergor Ho(fvod 385 oyb

(V) Beargh Fuzront

The correct match is
2l H05RE £fd0y ¢

(A)  (B) (C) (19
(1y (o (V)
(2 (V) (I (V) (In
(3 (my gl vy (V)
4 (1vYy (V)

Rough Work
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4. Swudy the lollowing iable showing the components of witer potential of three mesophyll
cells — A, Band C :

A B Saddn C widnd dords Serodd dore waTE 0 Bl Mereds 30h
& Sua w85 sG g b Hofood

Cell Osmaotic potential Pressure potential
Loy |E=dnde 530 =1 3 830
{MPa) {MPa)
A 06 02
1 3 -3
2 LR -4
If the aﬁtlw cells are in direct contact with each other, then the water moves at the lowest
rate between

B0 dardy foven sSorDEES wossD aiys, & fmo Sadg NESode wi
dfipe dhor adddeod |
(it ¢—-»B {(2) BaC

() B A 1) A=

5. The number -.:-_I stomats and epidermal cells in-i mm® area of abaxial surface of the
leaves of A, B, C and 12 plants are given below, Identify the plint having the least stomatal
imdex
A B C Sbde D Sugye See adg dood' vy S8y Dob. Zrogod®
Ao 98 dojgro S:0din erdey 98 foe Jomg (2od adgudod. wd LR
“|80eid TrDfde KO Twgyds A:00d0d

Plani Number of Stomats Number of epidermal cclls
Sy a(dSojgro Bugg t:r'ﬁ-; Eﬂ furo ﬁ-::—:us
A 20 100
R 40 160
C 50 300
D 70 560

The correct answer is :
20 BOTLS JdrgvSo

() B (2) €
(3) b (4) A
Rough Work
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6. Study the following combinations and identify the correct matches related to the role of
essential mineral elements in plants :

(I) Sulphur — Stabilization of protein structure

(I1) Manganese — Expression of apical dominance

(IIl) Zine — Activation of IAA oxidase

(IV) Potassium — Maintenance of anion-cation balance in cells

& (300 Knﬁo&#a‘oéo ©Egoso0 Do, Do od® usigs pda Swrosto F(EH
HowoBHoNS HVOTS Fdopod Hoosod :

1)) ‘;’oolgs - 1SS Qo a8 P¥ergd) LD yothe

(II) Srodde - 9(_!?@55:5260 WIrDoOL

(II) 20§ - AA #8)3&%0 ¢BaddHe

(IV) P ohS - $ered® aBosrs, sOoirs divdogdh 8¢ ko
(1) (I, (1) (2) (1), (IV)

(3) (1), (V) 4) @, 1y

7. A student has taken 6000 molecules of Fructose I, 6-bisrl.csphate and 2 molecules of
Aldolase into an enzyme reaction mixture to determine its activity. After 5 minutes, 50%
substrate was found converted into products. Then, what is the TON of Aldolase and the
total number of trioses formed by the enzyme action at the end of 5 minutes ?

.8 Daegd v S8 ISED (Bosrdodi Agrbodarad 6000 wmHo H5'S 1, 6 -
DEF DY, 2 wendHo oFTE ISFDHoS ISFS $oegio|§5006*8 8RS d. 5
e $HTE S0 TE0 wEHDrgo GE T Lo FFEEHD ik, vwd vg'SE
DeZEo Giwg) TON ISES 6653 5 dareH bd;&z’a (TS wm)e dowg Qo ?
(1) 300, 3000 (2) 300, 6000
{3) 600, 3000 4) 30, 6000

8. If 8 molecules of Ribulose 1, 5 — bisphosphate molecules arf;—oxygenated by RUBISCO,
how many PGA molecules are ultimately available to PCR cycle in photosynthetic carbon
oxidation cycle ?

Edmadg VoTrH Bordd BN 8% v E8en S0d50s’ 8 vmPe Bws'S
1, 5-050)8 wmHoo DI agos 82308 BodIYowd, wodBom
) PGA emopHer PCR Sodsrdd oxfgdperon ?

(H 12 2) 16
(3) 24 4) 8
Rough Work
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9. The number of ATP required in excess to assimilate atmospheric CO, o four molecules of
triose phosphates i O, plants as compared to Cy plants is : )
Cy S of 20y, C, Inhed’ deedy Sotrd B oo oerdtned'
COZES arenfls (STrS ﬂ-"-\_;.-ﬂ wroieenr yohide Dodart wodon BS5E55h;

AlPe Seey .
(1) 30
(i) 60

2y 36
(4) 24

0. Assedion (A)

Reason (R)

wiEyEo (A) -

aSmo (R)

Reduced Coenzyme formed in the oxidation of isocitric acid accounts
for more ATP production in electron transport than the reduced coenzyme
formed in succinic scid oxidation.

In the peoxidation of mitochondrial NADH, the number of protons
translocated from matnix 10 imtermembrane space is less than 1he protons
translocated when FADH, is oxidized

o HUE el elyficd DO d fdbidoe Tobd A IS BS:,
98y0F wi: uwlyEdn Sos Do)g Sohidn Tobd HLrISES
S0l JEnd ATPo® Jdegl doromd® Joydinos.

Bt erodoirSe Sonofs NADH $35 ulyise Sdided" aae
od woddnd HUrE o wthy (e Sogp FADH, siysis
=8RSS pdo o wily (Yerdie Sopg fod S 3,

The correet one is -

(1} Both (A) and

(R} are truc but (R) i3 not the correct explanation of (A)

(21 (A) is true but (R) is false
i3) (A) is false bul (R) is true

{4) Both (A) and
a8 L205L34
(13 [A) Sabcdo

(R} are true and (R) 15 the comrect explanation of (A)

(R) Bodr 20THID &3 (A)S (R) 20508 236 =&

(2) (A) DOTDHES =0 (R) H0THHL s
(3) (A) DOSHEL s~do =0 (R) =OTLAG
(4) (A)de0din (R) Dodr ROThRd. (A (R) 2005 Jdde

Rough Work
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11, The nucleotide sequence on entisense strand of DNA which is transcribed as codon that
specifies the amino acid serine is °
DNA (88 Boddy FS Ao & SriTrds fho shdplodg edT udo
w885 Brivd SHolsoe Jdydigod
(13 TCA (2} Aul
(3) TAC (4) €CC
12. From the phytohormones piven below, idemify the pairs which have mutally opposite
influence on Seed permination, siem ¢longation and stomatal movement respectively :
(n TAA (1) GA, (1) Zeatin (1vV) ABA (v} CH,
[Bod Groiand3 S3f 36° 500 Si0d SHNM 24N wofdn, (RFed DEpsd
S0cn SEdoere Joses LiaNlid Sp80E Bordo Srh wdod 3HBMT
M8odod :
(I 1AA ) GaA, (D sards (V) ABA (V) GH,
(1) (nD—{ve =iy OviE—V)
(2} (Ve vy V)
(33 (—IV)y (V) (V)
(4) (UG—VE (V) =)
Rough Wark

6 R -
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13. Study the lollowing lists

€ (B0l wheods eggahdo duied |

List-1
(A) Sesquiterpenc
(B} Diterpene
(C) Adenine compound
(D) Indule compound

Do |
(A) 40 3B
(B) @e:0)5
IC) =335 Sollrio
(D) z08'd HoTrAo

The correct match is -

20 HO0TkE £fdoPy :
Ay (B) (€ (Iy

thy dn o davy vy o g

(2) () vy iy (V)

(3 iy Iy (V)

h iy (1 v )

oblained ?

Foast-11
{1} Low nicoling i lohacco
(1) Delay i Potalo tubet spronding
(11} Root formation on stem cuntiings
(1V) More male Dowers in Commahiy
(V) Enhanced vose life of (lowers

a D 11
(1) Sl B s 8 25'00
i) momddoode woSond® vulro
i) @sod wedere’s 260 4d- 8
(IV) B E5&8° dan & Jndid S5
V) rgn o8 S2ude Lo da

4. From which of the fl.'l“l]'h\"il‘ta_ CIORSCS, |:' LT el ot s by bood v cun be

& (B00 Jofdmrod® IN Hod Jgnpd sofd Jeelly SRcd |, wesl

S ol drosdday ?

(I} AAbb = aaBB

{Ill) aaBB = aabb

The correct answer is ;
al ﬁu_.-;m;a [ = I
{1y (1, (1

(3 (1), (IV)

() AAbb = uabb
(1V) AABB = auhb

(2} (I, (v)
()l (0

Rough Work

TR
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& 2ol leoi E[ﬁscﬁjﬂn dood

Last-1
(A) Embryoids
(H) Gene pollution
(") Transgemic microbes

() Baoreactiors

Pl |
(A) Dooegreu
uf - S 5
(A} Eag Seulgu
(€} sdog 20308 Srg ydHHm

i) w ull-*-ﬂn-..ni-,,'*gﬁr_u

he correci maich s

RA 0TS 80
(A (B (G (D)

o avy (o (i

(2) (y  avy iy oy

(3 (V) iy an o av)

4 (¥) () n (11}

List-11
{(Iy Environmental clean up
(1} Molecular farming
(11} Super weeds
(IV} Artificial sceds
(V) Somaclonal variations

Do 1l
() Sepideray GEddds
4y um"fj.ﬁ;a
() F8 £ feoly Sngp e
(IV) Sy8& D8mes
V) FErE'Ss 30w

Rough Work
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16. Single cell protein produced from one of the following microbes is rich in Methionine -
(1) Spiruling muxima () Methylophtfus methylotrophus
(3) Dunalella saling (4} Scenedesmus acufis
G (508 DI 5) O Hrg D Sood 4838 WIS Jide (@IS LpobaSes: whiom
20 aotoold 7

(hy Bptbas Srbyir (2) DB el Bfe'sh
(3 bl 30 @ HREnh ubed
17. Which of the following &E:;:a;is caused by o fungus 7
(1) Yellowing disease of peach (2} Romt rot of apple
{31 Exocortosis of Citrus (4) Crown gall of pear
fod >g¢" 3bo|de E'ﬁﬁ'b T OB 0
th B8 dHday e 2y whdd® Ik L) Vb
(3 Bohs -}E":,S'E'hfa (4 Ddblo @5 md

18. Study the following combinmions and denfify the correct matches -
(1) Linear growih — Intercalary meristem — Leaf base af grass plant
(1} Acrenchyma — Buovancy — Brvophwlium
(11} Trichosclereids — Ivodiametric in shape — Aerial roots of Momsler
(V) Water stomats — Gubistion — Rool pn:-_-nsun':
& (Bod TEnpvoods wdgahde % S055E b MBodad.
(1} S8 - Sogpn Darng foeroo - 0§ Bws S@bhse
(I sdudsd dndinmos - ad)dio - polrpel:
() B4rsd Sydsmres - Sdoaghon acd wrdo - e saindd S
(V) modis dojgren - Dodyrde - 346 base
The comect answer is
ad DOTha morw

(1) (I, (uT) (2) (), (v}
(3) (I (V) (4) (I, (0
Rough Work

IR
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19, Identify the following plants with reference to the number of phioem strands in their rools

{A) Nicotiana (B) Castanea
(CY Ricinus (DY Gossypium

G Bol Bufjols od J¢Hd' 4ol TDE fewo Pomo Doygddon
Mbodod

(A) NE'Sakrs (B) sHoadse
() ohab () orRodbos
The correct match Is
al pOShd Sdoy
Ay (B (C) (DY
iy 2 ® 5 4
(2} 4 2 L 5
(4} $ [ ] B

LI 3 4 a

20, Mdentify the plant having both spongy petiole and wl:m;rgnl: assimilatory rooly
(1) Tepha 2y  Eichharnla
i3 Tinespora (4} Trapa
pyoddod Hd Syorrodn, O86* 2uIA acd ryoffde 3¢y SO0 sed Sws S
fboded ;
Iy Zar (2) odydr
3y oFFyo 4y Erd
Rough Work
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In a hydrophyte. the submerged leaves compensate for the roots. Tha plam belongs 1o the
edlegory of

i1} Free Noating hydrophytes

(2} Submerged rooted hydrophytes

(3} Rooted hivdrophytes with Meating leaves
(4) Submerged suspended hydrophytes

=g 04 Znd) &', DG 03 aod S 3¢50 D0TTon. u Jngy & Bobd Exnt
Dodadaoh.

th dd% fagﬁi:,rr 4 oy a0
£2) A& Zudn acd, shydde Jass ) o
(3) ohfimo Job V0% 49 Sprade .ﬁ!g_ﬁ:-

th Por A6 Seln eSuvobdumr aod Sugp o

— —

Ihe number of F, plants found similar 1o F, phenotype and genolypes, respectively in 4
total of 128 plants in F, progeny of a Mendelian dihyhrid cross «

H08d dghofs Lofdmo Wy F. Hodd Twdo 128 AhHdh F Sosd
S)igorard). wdgdrady F05 F, soddd'ie Swije dopy Ioha

(1) 48, 32 2y 72. %2

(3} 48, 24 (4) 72, 4%

Rough Work

Il R
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23, Study ihe following statcmenis

(A) A homozygous tall plant is crossed with homozygous dwarl plant

(B} A heterozygous tall plant is selfed

{CF A heterowygous tall plani is crossed with homoeygous dwarf plant

(D) A heterozygous il plant is crossed with homozygous tall plant

The probahility of tall chamcter appearing in the progenies in terms of percentage respectively
would be

& |Bod ogygodc wdzchio ddhod ;

(A) Sdocdnn)e ot ) o) Ddedinfiye g Tofy & Sofmo Sdbedod,

(B) s dindys SEH Suk) L @) Bos Doddje v,

(C) s clodys SE% SuE mindinfye: 0 3w 8 voffne Jabwbed.
(D) 28 ey rdd) Sulf) Sdake)e Pdd 3048 Hoftno ddbndos

seddiwd 4y vice W Boydge Tew SEBT ot dotron

(Al (B} (C) ()
(1) 75% —  25% —  |00%.— J00%
(2) 100% —  100% —  25% —=  75%
(3) 100% —  75% —  50% —  100%
(4) 100% - 50% —  T75% —  100%

24. Two filaments of Spirogyra aplanospora are observed. Une of the filaments has 150 cells
another contains 225 cells. If all the cells in both the filaments are involved in asexual
reproduction, whal is the ralio of new Glaments developed from them 7
20N wdSFodh TVobd Tod dodPod votUoddo mbhos. ef
Sodod 150 Sorody, 36 dodody 225 ool SOA savjon. Tods SodHod'd
sl) oo sPohd (D&psIBE >Sod, 2D o8 wDI 0 Tod Fd Sodipe
wRng Jod 7
(1 1:1 (3 3:5
(3 1:2 (4) 2::3

Rough Work
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43. A mule branch of Fumaria has ten antheridia and produced a sum 1otal of 1900 spermatozoids.
What is the number of androcyte mother cells in each antheridium assuming each of the
antheridia has the same number of androcytes 7

WO Ty ¥ PED ee 38 Hod Derdoirod 1OA 1400 oD
berods 4838 Do & 28 Hhaberidhe 3303 Dopgd® wol' bdodo LON
aychl 0% (58 HELbeddhod®) wolf'nd Srdide Sogg Jod 1

(1) 7o (%) 140

(3) 960 (4) 16

Z6. Trace the comect sequence of stages in the development of male pametophyte in Cyeas,

stariing from microspore

(1) Generative cell —» Body cell —+ Antheridial cell —+ Antherozoids
{2} Tube cell —+ Antheridial ccll -» Swlk cell = Antherazonds

(3) Anthendial cell —» Stalk cell —» Tube cell <+ Gienerative cell

(4} Antheridial ecll — Generative cell — Body cell <+ Anthorozoids

DED Hdn Dol Daudo whyyad Argihd Beu S0d 12%0d Sd0d
POTS SEHIES0d" Aitodod

() aey88 ¥mo — Birfeo —» Hoh Desdah fmo - oL deve
(2) 205 fpo -» P&t Derddls oo — Syod fmo -+ DS e
(3) Yoot Derdal foo —» 3)08 dno - FU5 Smo —+ awrydE fao

(4) POG Derddb fmo — den )88 oo - Yirfno - B Deres

Rough Work

13 R
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27, Study the tollowing lists :

# (fo8 wDerod wdpohbdo dakod -

List-1 List-11
(A} Armico (Il Food for astronauts
(B) Jatropha (1} Medicinal plani
() Chiorelia {11 Fibre yielding plant
(13} Buchmeria {1V} Petra-plant
(V) Biofertilizer
Dy L 3 |
(A) wbys () woddy 507'¢350s" windo
(B) =gty (M) E2d Zegy
(C) §ver (M) mrsos ad) s
D) & HEboir (V) o8 2wy
(V) 43 28

The correct ipatch is

28 SeTs &dody .
Ay By (Cy I

LI Y L " T | ] L)

2y 41 vy b i1

i3l ULLL R (T &

(4 (VY (VY o

28. A swudent observed 31 Quisqualis plants cach with 36 nodes, |5 Hibiscus plamts each with
21 modes and 77 Culotropis plants each with 1] nodes. All these plants contain leaves at
every node. What will be the total number of leaves of these three plants put together 7
w8 Dopd 1PAoRE 36 fmoensy 31 AgDsOD InMol. @asnet 21
Smeas) 15 BrDiph Snfos Lo BEsISt |1 fmdwdy 77 setrns
Snfied 208Doorde. & Zwdiod) 53 fmy g dered SO0 aTyow.
& Sards BwfHed'd Inde Jee DHopg Jod 2

(1) 2593 (2) 1585
(3) 237 (4) 4241
Rough Work

14 R
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& (808 eDeods wdechdo Tofod :

29, Swdy the following lists -

List-1 List-11
(A) Leaflets modified into spines () Trifitim
(B) Succulemt leaves (I} Yucea
(C) Whorled phyliotaey () Seilla
(13 Epiphytous buds (V) Lifex
V) Colchicum
wDa | Do
(A) Ddsey, Sotsvenn () |[EBais
drareddo Joddo i ey
(B) G508 Sjeres (M) e
(C) Siha S@Irgha (v i 18
() SF'S0%E Jnffes (V) =0y

The correct match (s

a8 DOTLE &80
(Ay By (€ (my

vy gn vy

(2) avy (o

G (W m avy

@) vy am

Rough Work

I5 R
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A0, [demify vwo correct statements from the following ;

{1y A single male and a few female flowers are present in a flower like inflorescence in
Founsetlia

W} Sessile or subsessile Mowers formed in the axils of leaves are crowded @t ine modes in
feomalis

(1Y I Ficwss a fruit like inflorescence is present with all fertile Mowers

1V} The I’.'I;r!ml-iﬁis is sympodial in Hamelio

& |3oozd beed God: DOTNG ogwgods MOodidw

() od Pyl doll oS DPur Haydrgsed 24 Hha aE ) by
Al oo dodrai

() OTrPahe® 508008 Ho al3jed dWrd Hryw derw hawd' 2838
gmody 24 didm 20 aowron.

() doo S8 actd ES :gﬁ;;ﬁa-aﬁuﬁ‘ ud) Haryte JolesWAr dourun

(IV) leDaird’ Hryfo widtomr dood,

(O, vy (2 (1, (IV)
(33 (I, (0 (41 th, ()
31. From among the lollowing. identify the correct order of plants which exhibil hypogyaous,
peripynous and epigyvaous Nowers respectively
(0} Physalis, Sexhania Tridox () Leathyrns Fagedus, Seiila
(M) Tephresia, Lothyrus, Tridax {IV) Aburtlon. Lathyrus Tagetis
G (Bola e wodPrdLa, Bogodfd, wodP L0 Rirgoeds fdodd
Bwsre 67 |FEHrdy Mlodod -
() 3TE5, ¥yoar, Byl () erass, e, Dol
(1) BPYader, ool Byl (IV) vwderl, obdh, tr2bh
(13 1y, (1 (2) (1), (1V)
(33 (1, (4) (0, (1Y)
Rough Work \

16 R
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32. Thinty sceds each of Doliches, Pisum and Muize are kept for germination in the sail
How many cotyledons are Tound above the 0il and below the soil respectively when all the
secds germinale 7

DER, DH5.. S FSjodt BE LE el 30 Sdawn Bodt SuoIsaid
SR Eado & 28red) Iwesdd S0nm do 13 Boaw do Sse I3y
Bo Sgnis g o 7

(11 60, 60 (1) &0, 90
(3] 90, 90 (4) 30, 60

3. Mentify the correct par of staléments -
(1} The filiform apparatus helps in absorption of food
(11} Antipodals are the vegetative cells of female gamctophyle
(I} The fusion of two polar nuclei oecurs ulways before the entry of pollen tube
(IV) The largest cell of embryosac is the egg cell
0 odd ThEpo wdis Hiodod -
() 2085 28450 mig torgre Flhes Sdjdsbed
() @8 foren By So@rn Duso Wty rich Emen
() §3520Ee Jotirdo Jubydr dodre [drdd Frégd editdos
(V) Bsbz dmo Lods'doetn ©805 Imo
The correct pair is
al HOTLE =8 |

(1) (n, an (2) (m, (1
() (1 vy (4) (0, (1Y)
Rough Work

1T R
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3. A student observed a plant with stellate hairs on vepetstive pany and the fruit dehiseing into

many seeded mericarps, Which one of the following characters is ulso associated with thai
plant 7

(1) Failure of the germination of pollen grains on the stigmm of the same Mower

{2) Presence of monosiphonoes pollen grains

(3} 3210 bracteoles forming a whorl on the ealyx

(4} Twa carpels n the gynoecium of a lower

ik grre bl 35 ety drwr, ol Jdrwsy dvorTomr 3AF oo de
sy 2d Uergd ridlomde. ¢ (fod vimed® J0 v IS SowoleDis 7
(h Soidmfer o8 Hijed'd Sepio d 2oows DEvndo

2) 2¢ Foded SoidmHew sodbo

(3) 554 B0 DG 1alD oiw Hom g Swabar Jdjao

(4} Phjed's wudt'ied® Tod Sodvw

o ——

35,

OF the Tour plants | A, B.C Hﬁ} abserved, ‘A" was selected by Mendel for his i-i}'bridir.aljml
experiments, whale in "I, Shull Ty ibreeding depression and 1 Is a day neatral plint
In "C" Hugo de Vries discovered mutations 1" has bicollateral vascular bundles and straight
embryos, ldentily the characters of — Ay By L and 13 10 correct order

The correct order is

(1} Pulvinus leal” base. Krane anatom Ieampellay gynoecium, Seplicidal capsule

(2) Foliaceous shipules, Scuteliun, Tetracarpelliey gioccium, Septifragal capsule

(3) Piston mechansm, Eustele, Monocarpellar gymocciwm, Swollen placenta

(4) Monudelphous stamens, @ill roofs. Ricarpollary gymoeeiim. onilocular ovary

AdRo D% el Fotyod' (A, B.C Lddo D). AL SuddES Soises [pErmotse
wENERm. Ahro ol 3uY eoud B 4d wodi Dl Eed o ddood. s
C IR 305 adbidmei a1 0SS0 B 0spomed, Jed
Doardy SO0 8238, 6 A, B, C 0din 1 & frroic SOURSE (B0 ool
a8 BOTWD |E5u0 :

() doyo Sof Hsbdo. |sod wodl o mo. (BPos¢ woeds Yo, BL oW KDE
(2) Bered HEYoyw. Sy Vel Sl j0d¢ vodb o, do Po8 e

(3) 25 drojBfo, Judddn Dogio, I dodd wodlio, &by wodargsar o,
(4] 28 wogs Shoe, M8y, Lidodd wodi'ie, D¢ Dudind woaridho.

Rough Work
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36. ldentify the correct raliod of the following, reluted to Hentham and Hooker's elassification
of plomts -

(A} Number of series in Dicotyledonne and mosocotyledonse
{Bp Number of classes and sub-classes
Hogli, il 534 $0fdc Iorbud Howoledd & (fob ool Tingy HOTLS
Raydeis Blodod
(A) B=0088, Srd'volatod’ (ame Doy
By adds, ﬁ:-idﬁh Romg
The comect ratios are
all HOELS D& ydaedy
iA) (B}
iy i b
(2) 113 IR
(3} 1 1.1
{4) bk (|

37. The ratio of chromosomal number of polien groun of Ni:ﬂrrmmhmm; endosperm cell of
Oryza gativg and root cell of Alllum cepa i3
AP EUErD owrEl doviTmedy LB RP vokds)d o0 So0uwn wbwS:
b3 ddeced'y ol Sopge Tuyd

(1y 6:9.4 2 3:8:2
3 3:9:2 (4) 4:7:6
Rough Wark

19 R™



E AMZIUNI D

A%, A DMNA fragmem of 204 A was separated by a scientist from the nuclear genome of the

9.

plant. What will be the ratio between the number of fwo and three hydrogen bonds formed

i the componenis of this fragment if it contams 40% Adenine 7
cd wiede Fnfied® acd fogr #3'5 Sed 204 A 8 Ao DNA

woderny Jdd Tavds & woddod® 40% =428 &d8. o0 shwese
dofg aod Tods 2o0adn Fards 0\8'=0 vogrs Dopg Dagg SRpE Jod 7
(1) 29 (2) 1:3
(N 411 4) 1:4

Identify wrong pair of stitements from the following

() Cell organelles are newly formed in *G,° phase of cell eycle
i Doubling of chromosomes oceur in *5° phase of cell eycle
(1) The nucler formed after mewosis-1 are haploid

(1Y) Terminalization occurs in Anaphase-1

& (Bod oRd' 2050 oyege adis Hiodod !

i fndy50 "{'-:' S4S" foromrw !‘ﬂﬁ' ﬁﬁ;tdl.rm'r

(I fedge 'S ai6' Fardlo Sogy Bgon wipdiod
) {cdtin Dgus.l Stod D0yd fodew JE HOsw
(V) wuls S4Edm: Jon0d 19" udihi

(i ATV 12y (U ()

(3} (N (TV) 4y (1), Ly

40, The cormect order of plants which exhihirs laticiferous cells and lysigenous cavities respectively
1A
(1Y Hevea, Prmux (2} Cirrrs, Pathos
(3} Ficus, Carica (4 Neriwm, Citrus
% 2E5 frrw, odberd Hirood SOSm (BE00d Endje HOELE |ES00
() rddgir, DE5 (2) Wk, ek
(3} ES, wOF (4) nbchon DD
Rough Work
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